
MY VERSION OF 400 – 1000 MHz ROBERTS BALUN

IMPEDANCE RATIO OF THIS BALUN IS 1.4 (BALANCED END) TO 1 (UNBALANCED TRANSMISSION LINE).
IN CASE OF 75Ω COAXIAL CABLE IMPEDANCE AT BALANCED END SHOULD IDEALLY BE 105Ω.Ω COAXIAL CABLE IMPEDANCE AT BALANCED END SHOULD IDEALLY BE 105Ω COAXIAL CABLE IMPEDANCE AT BALANCED END SHOULD IDEALLY BE 105Ω.Ω.

3 5Ω COAXIAL CABLE IMPEDANCE AT BALANCED END SHOULD IDEALLY BE 105Ω.
68.5Ω COAXIAL CABLE IMPEDANCE AT BALANCED END SHOULD IDEALLY BE 105Ω.

76.2 6.4

6.4 11.2

ALL DIMENSIONS ARE GIVEN IN MM (MILLIMETERS)

SCALE 1:1

             BALANCED END
2x 0.5Ω COAXIAL CABLE IMPEDANCE AT BALANCED END SHOULD IDEALLY BE 105Ω.mm COPPER WIRES

16x5Ω COAXIAL CABLE IMPEDANCE AT BALANCED END SHOULD IDEALLY BE 105Ω.mm PIECE OF 0.8mm THICK PCB 
(COPPER REMOVED) 

0.5Ω COAXIAL CABLE IMPEDANCE AT BALANCED END SHOULD IDEALLY BE 105Ω.mm COPPER WIRES 
SOLDERED TO SHIELDING 

INNER CONDUCTOR TO 
THE RIGHT OF A DRILLED 
HOLE IS REMOVED

UNBALANCED END
(COAXIAL CABLE)


